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ERASMUS+ KA2 STRATEGIC PARTNERSHIP ΙΝ SCHOOL EDUCATION 

 

PFP Erasmus+  

 Module 9: Investing 

Investing Multiple Choice Quiz 2 

Kahoot link: https://play.kahoot.it/#/?quizId=7e72cef7-96c8-408f-a4e6-e4e8afe61c7a 

 

Q1. If a share costs £1.24 and pays an annual dividend of 6 pence, the yield on the share is? 

 

 

Q2. ETF stands for? 

 

 

Q3. Some children may have one of these investments opened by their parents/guardian? 

 

 

Q4. Successful compound investing relies on this? Clue: answer begins with t 

 

 

Q5. The difference between the buy and sell price offered for a share by a broker is known as 

the? 

 

 

Q6. The ‘wrapper’ that allows investment gains to be tax free is called an? 

 

 

Q7. £10,000 of GSK shares paying an annual dividend of 5.75% would produce a per annum 

dividend income of? 

 

 

Q8. Share dividend income is automatically re-invested and used to buy more of the shares? 

Explain 

 

 

Q9. An ISA can only be used to buy shares? True/False 

 

 

Q10. Name 2 typical costs of buying a share/fund? 
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